105

RG-R
Hanpasnstowuii npodunb
ANS PONMKOBbIX KapeToK

AnuHa
Pa3mepbl penbca, MM CraHpapTHas A/iMHa pe3oB, MM NoCTaBKN
ApTukyn Bec, Kr/m
1,8

1120 1360

RGR15 16,5 57 45 160 (5) 220(7) 340(11) 460 (15) 580(19) 700 (23) 940 (31) @) (5) 4000

RGR20 20 21 95 85 6 30 20 2200) 260(9) M0(1) 460(15) sd0@) 2027 (33 (3 (g 4000 276
RGR25 23 236 11 9 7 30 20 20() 280(9) M0(1) 460(15) 640(21) 820(27) (9% (s (o5 4000 3,08
RGR30 28 28 14 12 9 40 20 280(7) 440(11) 600(15) 760(19) 1('3%0 1('2;‘)0 2("5);‘)0 2(655)0 3('%’)0 4000 4,41
RGR35 34 302 14 12 9 40 20 280(7) 440(11) 600 (15) 760 (19) 1(2?? 1('2’?)0 2(,(5321)0 2(2;)0 3(2?)0 4000 6,06
RGR45 45 38 20 17 14 525 225 5007 885(07) (9 (a9 (s (o) () 4000 9,97
RGR55 53 44 23 20 16 60 30 780019102007 (o3 lon  (am e s on - 4000 1398
RGR65 63 53 26 222 18 75 35 1270(17)157021) 2(%;’ Z(g’g;’ - . - . - 4000 20,22

BoAT KperisieHus penbca MoMeHT 3aTsHKKKU N-cm
Pe3bba

KpenJsieHusa o

RGR15 M4x16 M4 x 0.7Px16L 392 274 206
RGR20 M5x20 M5 x 0.8Px20L 883 588 441

RGR25 M6x20 M6 x 1Px20L 1373 921 686
RGR30 M8x25 M8 x 1.25Px25L 3041 2010 1470
RGR35 M8x25 M8 x 1.25Px25L 3041 2010 1470
RGR45 M12x35 M12x1.75Px35L 11772 7840 5880
RGR55 M14x45 M14x2Px45L 15696 10500 7840
RGR65 M16x50 M16x2Px50L 19620 13100 9800

INNER



